(3x% — 9xy) + 3x — (8xy — 4y?) + (=2y) & ZtHd| otH?

® -5x-y @ 3x-y ® 3x-5y
@ -3x -5y (@)5x—5y

~&B

3x2 - 9xy  8xy—4y? 8xy — 4y?

X Xy Sxy—4ay :x—3y+u

3x -2y 2y
=x-3y+4x-2y

= 5x — by




1 1
:§x2—2x—10+3x:§x2+x—10
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3. H=FTATFT AL

rlo

@ (-2x7)% = (=x%)? x 3x = 6x1°

@Qab + (3a®b)? + a®b = 11ab
® (2x* +5x—7)+ (-3x? 4+ 6x+6) = —x? + 11x + 2
@ (6a%b + 4a®) +2a = 3b + 2a

® -3x(2x—y) + 9x? = 15x2 + 3xy

2ab + (3a®b)? + a®b = 2ab + 9a°b* + a®b
= 2ab + 9ab = 11ab




4.  —x(y+3x)-y(2x+
x* O] Ago] o Aduke A7

—x(y + 3x) —y(2x + 1) — 2(x® - xy — 4)
=-xy—-3x2-2xy—y-2x2 +2xy+38
=-b5x?—xy—y+8

wEbA xy o Alee -1, 22 9 Al -5018

= 2 -6 ot




®a-1 @a2+a—1 @ a®-1
@ a*-a ® 2:2+a-1

(4ab — 8ab + 2b) + (=2b) + (a*x — ax) x 3
x
4a’b — 8ab + 2b  3(a’x — ax)
= +
—2b X
=-2a%> +4a—1+3da® - 3a
=a’+a-1




6. 3(2x+y-2)+ (-2x% 4+ 2xy + 4x) +

AE T Fota?

@5 @7 @9 @ 11

~&B

3(2x+y—2)+(—2x2+2xy+4x)+g

2
=6x+ 3y — 6 + (—2x2 + 2xy + 4x) X =
x

=6x+3y—-6-4x+4y+8=2x+T7y+2
L2+7=9




2y-2 3x-4y 2x—5y-3 "
x+2y + x3 Y 4y = Ax+By+C &L F 0}, A4+ B+C

o] gh2?

D 20 (@)g ® _% @ -20 O 12

~&B ‘

x—|—2y—2+3x—4y 2x— 5y -3

2 3 4
6(x+ 2y —2) + 4(3x — 4y) — 3(2x — 5y — 3)
o 12
_ 12x+11y-3
a 12

_ _12+411-3 20 5
CA+BHC="—1—=0 =1




2 2 _5p2
8. ohe A 2a°b + 3ab B 4ab — 5b < 7bchs) 549
ab b
@—2a+8b @ —2a-8b ® 6a-8b
@ 6a-2b ® 2a+8b

2a2b + 3ab®>  4ab - 5b*
ab b

=2a+ 3b—4a+ 5b
= —2a+ 8b




 x(2x - 4y) - 5x(x-y) & 2] b2

@—W — Xy @ -2x* —1lxy ® 8x% 4 1lxy

@ 8x? - xy ® 2+ xy

~&B

gx(Zx —4y) —5x(x—y)

= 3x% — 6xy — 5x* + Hxy
= —2x% — xy




10. 3x(x-5) +4x(1-3x) = ax®> + bx+c¢ & W, abc 9] G227

@o @-11 ®-20 @9 6 -9

FAN)= 3x% — 15x + 4x — 12x% = -9x® — 11x
a=-9, b=-11, c=0
. abc = (-9) x (-11)x0=0




o, x> o] A4}

e

e Fafolet

1) —4x(x-3) = (7Tx® —x+1) 2 7FH3]

Apsgrel

3x(x

11.

.

ull

3x2 —3x—4x2 +12x—-7x2+x-1

=-8x2+10x-1
84 (1) =9

(24




12. £ {Ito] SHH?
a b
® 3b @8a+3b ® 8a+9b
@ 9b ® 8bh-9b

(F2]) = 4a + 6b — (3b — 4a) = 8a + 3b




13.

8xy - 3)62 Xy

X (—4xy) =8+ —5——

2x2y ( Xy) 2x2y _ xy2

@® -16x + 8y @ 3x+ 8y ® -5x—12y

@—10x—8y ® 4x-9y
8xy — 3x2 Xy

——— X (—4xy) -8+ ————

2x2y x (-4) 2x2y — xy?

_ 242 D2y — xp2

:8xy 3x X (<2) = 8 Xy — Xy
£ xy

= (=2) X (8y = 3x) - 8(2x —y)
= —-16y + 6x — 16x + 8y = —10x — 8y




14. r:/\]a boﬂ]:Ho}.Q# *Ea#b_a+b ab a*b—d((l-ﬁ*b)i

AOlotat, a=—x,b=x—4y Q W, (a#b) + (axb) & x,y of TSt
A0 2 YeRfH?

@ -y @ x*-4 ® 22 -y

@ 2x% -2y (@)x2—4y

~&B

(—x)#(x — 4y)

=—x+x—4y+x(x—4y) =x>—-4xy—-4y ---O
(=) % (x=4y) = —x(-x+ x-4y) =4xy ---©
@ + ©sHA x% - 4yo|t}.




15.

= x(2x+1), B = (8x3 +2x% —6x) + (—2x)
th A-[2B—{A+ (B+C))] & 1ds] stl& of 72+ o
o] e Fotel?

o]
S

@w oun 61 ©®13 ©Ou

a
I
—
[N}
=
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o
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w
|
—~
[\V]
=
ot
~
w

~&B

A=2x+x,B=-4x>-x+3,C =2x?
A-[2B-{A+ (B+O))]

=2A-B+C

=2(2x% + x) — (=4x? — x + 3) + 2x*

= 4x% + 2x + 4x* + x — 3 + 2x2
=10x*>+3x -3

© 10+3+(-3) =10




X

3(6—3x)—g(ﬁx—8)—3x:Ax2+Bx =} 8 uf, 24 + 3B 9] ZHS
stofe.

16.

> =

> ®™eH: 1

B *
(F4]) =2x - x% - (3x% — 4x) — 3x
= —4x? 4+ 3x = Ax®> + Bx
A=-4, B=3
© 2A43B=2x(-4)+3x3=1




(12x+24)—1—)‘2(36—12x):Ax2+Bxa}é_}rqa,A—BPJ Zhe?

D =

o1 @ ® 3 @ 4 ® 5

B

(F=4]) =2x% +4x - (3x— x?)
=3x* + x = Ax*> + Bx

A=3, B=1

L A-B=2




(24]) = 3x% - 3xy — 2x% + 4xy = x> + xy
opebA x2 319 A4 1 ot




19.

b Al 2hes] sofet.

(12a%b — 18a3b?) + 6ab — 2a(6ab — 4a)

@O —15ab + 10a @ -15a%b + 10a
® -15ab + 10a? @ -15ab? + 1042
@—15a2b + 10a?

(12a3b — 18a3b?)+6ab — 2a(6ab — 4a)
= 2a® — 3a®b — 12a%b + 8a?
= —15a2b + 1042




